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Invalid

1) 2

2) JA

3) AJ

4) x1.4

5) - 2 .

6) .77

7) $1780.00

8 )  1AlJ

9) (X61)

10) 1,368.02

11) 52

12) A’B2

13) DISTANCE

14) AlJl

15)  VARIANCES

Valid Invalic

16) 32.7E13

17) M62A

18) I.Q.

19) X-BAR

20) SIN0

21) Y

22) 2nr

23) 0

24) 0.0

25) 2020.

26) LARGE

27) -769.1

28) SMALL

29) 32.7 - El3

30) x**2

Valid Invalid

2. F1J1J~ll~l~YlIt,d~WtlFt~~  (Arithmetic expression) dOyb¶Jd  b%4  real eS$O  integer 99”aO

mixed mode arithmetic expression

1) SUM + A/Cl

2)M+N-O+P

3) J/(N  - 1)

4 )  x**2  - Y**I
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5) (A + 8) ** 2.5

6) AN *  (AN + I)/2

Y
3. ‘WL~LlU~W~~dEl~L&~U  FORTRAN real mode arithmetic expression

1) ;gtz a + b  2
14 )  (-) +  x2

c + d

2)  i 7rr2

3) ( $ 7“ + ( 5  fi3

b4 )  a  +  __
c - d

5) ax* + bx  + c

6) a + b5

,) (a + Wc ~ d)
e(f - ~2)

8) a + b\lz

9) 42-g

10) ab - $ + ef

11) asinx + ccosy

12) la - bl  c

13)  a - h sin (b - c)

15) x2 + 5x - 9

16) x‘/3
+fY

17) 9 + 3vi;

18) ’
1+;

19) at + a2 + i a3

20) a+p+3y

21)  (co?  0 +  sin’  0) ‘12

I
22 )  -L +  __ +’

rl r2 r3

2 3 )  al  + bz

25) P(r + IY
2.5

26) y co?  a + x sin $

Y

4. 9lJ!,%JU~W?&!EI!L%&4  FORTRAN integer mode arithmetic expression

I )  3(2k - n)’

2)
n(n +  1 )

2

3) *  (3n’ - 4 )

4) s (3k  + 1 )
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5) 9k* - 6k + 8 7 ) (P + m)* - (P - m2)3

6) k; + 2klkz  + k;
8) j2+  k-

5
+k’-j

I
5. &I~niVhu?m  J y2  + $2  u”nh.h~d~n  i~~~~Jlg,,~~~~,‘~t~u~w~~ni~~~~~~

1)  SQRT(Y ** 2 + 4.0 * X ** 2./3.)

2) (Y ** 2 + (4.0 * X ** 2)/3.0)  ** 1./2.

3) (Y ** 2 + 4.0 * X **2/3.0) ** (I/2.)

1) -B + SQRT(B ** 2 - 4. * A * C)/2.0 *  A

2 )  ( - B  +  SQRT(B**2  - 4.*A*C))/2.0*A

3) (-B + (B ** 2 - 4.0 * A * C) ** (1./2.))/(2.0 * A)

4) (-B) + (B ** 2 - 4.0 * A * C) ** Z(2.0  * A)

7 .  asaQ~PrtOufwPdnl9~~~~~

1) A + B/(C  + D/E)

2) X * Y + A ** C/B

3) I + (J - K)  * L/M

4) A + B/C - D ** E * F - C

5) I/(1  + K * L)  - M

6) J * (K - KK)/9  + L

7) (A * B/C) ** D

8) (B * C + 3. * A ** 4)/((2.  * B)/C  + A) - 1.0

9) A + B + C * (A - (C + D) + B/E + C)

10)  ((2.13.) * Y + X ** 2) ** (1.12.)

11) ((B ** 2) - 4. * A * C)/2.  * A ** 3

12) (2.0 * (A - B ** 2)/B) + 1.0

13) (C(K) + A(3) * B(J))/(9.7  + 3.5 * P)

14) (A ** 2 + B)/5.0 + (B ** 2 - A)
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15) Y **  (3./‘4.)/5.2  + X **  2./3.

16) (J **  2 + K)/5 + (K  **  2 - J) *  (J + 8)

8. ilJHldlll0J  FORTRAN arithmetic expression dOI&

th4Wil  A = 10.0, B = 3.0, J = 10 LLRt:  K = 3

1) A + B ** 212.0

2) J + K**2/2

3) B + A/B - 1.0

4) K + J/K - 1

5) A **  2 + B/5.0 + B **  2 - A

6) J ** 2 + K/5 + K ** 2 - J

7) (5 * K)/2

8) 5 * (K/2)

9) (A **  2 + B)/5.0  + (B **  2 - A)

10) (J **  2 + K)/5 + (K  ** 2 - J)

11) (2.0 *  (A - B ** 2)/B) + 1.0

12) (2 * (J - K ** 2))/K  + 1

9. WMlFhllOJ  FORTRAN arithmetic expression b~~l~dl~~lWU~lw"

1) J = 2, K = 2, KK = 7, L = -3

a) J *(K - KK)/(9  + L)

b) J *  ((K - KK)/  (9 + L))

c) (J * (K - KK)/9  + L)

d) (J t (K - KK))/(9  + L)

2) A = -2.0, B = 3.0, C = -2.0, D = 3.0

a) A * B/C **  D

b) (A *  WC)  **  D

3) A = 2.0, B = 3.0, C = 2.0, D = 3.0

a) A *  WC **  D

b) (A * B/C) **  D

c)  A * (B/C) **  D
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10.  WthU!h  FORTRAN logical  expression

1) x2 + y2 < eZ  LtR:.  x + y > a

2) y = x %I%  y + x2 > z

3) a + b > c tLt3t  b + c > a UC  a + c > b

4) a’  + b* = C*  LLK  a + b # c

a+b5)  17  = I + $ MCiQ  c # ___
2.1

11.  wmi7llOJ~WP6~OIlJ~

hWWi1  X = 22.5,  Y = 16.9  LLA:  Z = 5.6

1) X .GE. Y

2) Y .NE. Z

3) Y - Z .GT.  X .OR.  X + Y .NE. Z

4) Y .GE. X .AND. Y .LT.  X .OR.  Y + Z .NE. X + Y

5) Y .GT.  X .AND.  Z .LT.  X

12.  wmi7Y~~Qw?Gdn~ll~

61 P t?ha?J ([rue),  Q t&.&P?J,  R t&ttf?9  (l’alse)  LLA:  S Lht~P

1) P .AND. Q .AND. R

2) P .OR.  Q .OR.  R

3)  P .OR.  R .AND.  Q

4) P .AND.  .NOT.  R .AND.  .NOT.  Q

5) P .AND. R .OR.  Q

6)  P .AND.  .NOT.  R

7) P .AND.  Q .OR.  R .OR.  S

8)  P .OR.  R .AND. Q .OR.  S

9) P .AND. Q .OR.  R .AND. S

10)  .NOT.  P .OR.  .NOT.  R
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arithmetic statement

A = 5.0

B = -A

C  =  A/B-1.0

c  =  c+1.0

B  =  B * B + C

A = A**2-B

B  =  B - C + A

C = B*C

B = B/2.0

A = C/B + 12.0

A B C
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14. FORTRAN arithmetic statement @kt~~~QflVI?&l  &t%llyl~kl~&l

JlJLLYlJ  : a = ae

IflLd a = variable (simple or subscripted)

LW ae = arithmetic expression

Valic

1) DISTANCE = RATE ; TIME

2) (Y/X) ** (A - 1 .0)  = P

3) ROOT = 2.0 * n * R

4) RATE = D/T

5) C ** 2 = A ** 2 + B ** 2

6) PAY = 50

7) GROSS = DEDUC + NET.

8) 3.141592 = PI

9) N = N + 1,000

IO) A = B ** (N - 2))

11)  A = N + -M

12) X - EAR = SUMX/XN  + 5X

13) 4A = P + C( - D)

14) TOTAL = (NO1  - 1) + (NO2 - 2)

15) CIRLK = NUMB ** 3

16) (A + B)(A - B)  =  C

17) NPAY = $40.50

18) ABC = -365

19) K = SIN (8)  + A(X)

20) I = 9500.95

21) K* = A*  + NZ

Why invalid?
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15. hWWil  X = 14.0, Y = 4.0, A = 2.0, B = 3.0, N = 11 LLA:  M =  3

1) JAM=X/Y+A”*B-6.1 ,  J A M  W%lfilLYilb~

2) SAM = (N + 9)/M ,  S A M  i)~L&ilLti7~61

3) STAR = (X+ Y)/A+ .S+B ,  S T A R  Ptt?%JfilLYil~~

1 6 .  9inAit-T~

I/

READ (6, 15) A, B, IN

15 FORMAT (F4.2, F5.2, 2X, 14)

hllO9  A yph45m  c o l u m n  #i  _ _ bS  c o l u m n  ci  _ _ 2105  record

filll&l  B wpdiuilin  c o l u m n  d  _ _ Cl column +! - 2105  record

hum  IN sqndwmn  column d  - iiS column d _ _  ll&¶ r e c o r d

17. ?hfbHWl  input record ‘&i

floKaJoJd 1 2 3 4 5 6 7 8 9 IO

record d 1 1 . 4 0 5  . I 9 8 5

record d 2 1  2 3 4 2 4 5 7 8 1

record 4 3 -623145.7-

Ips”lGh-?~  R E A D  Iufib  16

817l  record d  1 A, B ttfl:  IN ?~t?hiltPilh.h

11
-

0

5

I 12

0l-l2

1

13 14 15 l(

I 2 4l-l-!5 I 7

0 4

-

Wfl  record d  2 A, B LLRt IN ‘Wn”¶Jh~l~@$hJ

3117  record d  3 A, B LLt?t  IN ~,rtn”¶J~lt~l~~h

19.  mn READ (5, 5) IN, B, C, D(2)

5 FORMAT (15/3F7.2)

%~Ll~%%  Input record i record ttd%  record ~dlll~~~~tt~~~~i19J”75

2 0 .  fhnun READ (5, 9) A, B, N

9 FORMAT (F4.2, 2X, F4.1,  1X, 16)

ttA~hHUWh  A = 73.2, B = 625.2, N = -3650 ilSttl@&l~R!.Pb  input record
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21. fhMU@ READ (5, 32) MA, XA, YA, KA

32 FORMAT (2X, 16, IX, F5.3, F7.2, 18)

ttlXfhMWi1  MA = - 123, YA = -2517.9, XA = 32.254 LLR: KA = 2800

column

record d  1

record 4  2

record 4  3

record d  4

record M”  5

record 4  6

record i 7

1)
II

READ (5,91)  SUN, MON, TEE, WEE

91 FORMAT (F6.2, 2X, 13, IX, F4.0, 2X, F4.4)

Pl?l  record 4  1 SUN, MON, TEE, WEE ?fLhifhY’hbl

2) 9lfl input record ‘hlJ?J~  ttB:  READ statement

READ (5,92)  XA, JAM, APR.  JUNE

92 II FORMAT (/3X, F6.2, 1X, 15//5X,  F5.0, 7X, 16)

~~tt¶hk  4  &ialPah=kI  R E A D  PtthC;llYilbl

4) QJt~UUh$G~%!  Computer 6% record w”  6

5) ?St%J!&lk~~$  Computer dlU  record d  7 t&tn*Yfh  2.585 !%u HNOU, 13278

1% NOEM  LLAZ  32 .25  1% H R W R

6) 1JL?h&l~~~~Computer  d1I.t record d  7 t&ltn”IJfh  132.78 13%  A, 5853 l?“zu  K

LLA:  .25  I%4  B
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23.

II

WRITE (6.3) KOUNT, SUM

3 FORMAT (3X, 14, 2X, F6.2)

$1 KOUNT Ihlfil  121 LLA”,  SUM ~?%il  356.496 ?%%%GVtl+ktw’

(b%i 6 = HlhhJw’)

I I

WRITE (6, 19)  K, S, NAME

19  F O R M A T  (2X, 14,  3 X ,  F 6 . 2 ,  A7)

25. %¶hhlk-l;l K, S hat  NAME h.&l  24 79ua~~eranla4sJw”~l~~l~~  (A = blank)

WRlTE  (6,20)  K, S, NAME

2 0 FORMAT (8X, 13/2X, 6HSUM A = A, F7.3 //

+ 19H  /\NAME/\  OF AMONTHA  ISAA,  A4)
I ,

WRITE (6,20)  X BAR, SDX

2 0 FORMAT (3X, 16HSAMPLEA  SIZE/\  =A 50//3X,

+ 12HMEANfi  OF/\  X/\ = h, F4.1/3X,  14H  S.D., OF^ XAA2/\ = A, F4.1)
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21 /I

WRITE (6, 21) A, B, C

FORMAT (1X, 2A6, A8)

29. iilM~&l  X = - 22.5, Y = 16.9, Z = 5.6, I = 3 LLA:  J = 4 bdO  Computer exstite  control

statement iO’b9JTL&d statement Zntqn  execute dfl~ll

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

II)

12)

IF(X) 20,30,40

IF (X + Y + Z) 11, 12,  I3

IF(Y - X ) 9 4 ,  I.2

IF (X - Y) 19, 20, 21

IF (I ~ 3) 29, 39, I9

IF(-Y) 18,  19,  3 6

IF (I ~ I/2 * 2) 31, 32, 33

GO l-0  101

GO TO (3, 20, 9, 16, 54), I

GO TO (20, 30, 40, 50), J

IF (Y  .GT.  X .AND.  Y .LT.  2) GO TO 50

51 SUM=Y+Z+X

IF (I .EQ.  8) STOP

56 J=ltlO
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

GO TO STOP

GO TO, 125

A(K) = X(I) + Y(B)

SUM = SUM + A(3, - 3)

IF (X **  2 - l.O),  10, 11, 12

IF (NUMBER) 10, 20, 30, 40

IF (X = Y) 90, 91, 92

IF (DATE) 0, 10, 3

IF (X) 10, 10, 10

IF (N .EQ.  9) 10

DO 10 X = 1, 40

DO 50, INDEX = 5, J, 3

DO40J  = 1,20,3,9

DO 12 IT = 1, 10, 11

D O O J  =  1,5

DO20,I  = 1,20

30  6 J = 2, 20, - 1

DOMI  = 1 .20

206M=l,N,

F (N .NE.  M)  10,  20, 30

DO statement

1) 0START
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NSUM  =  0

I

4

N=N+2
I I

NSUM = NSUM + N*

3 2 .  llfl READ (5,6)  (RA (J), J = 1,20)

6 FORMAT (3F5.2)

?Z~Cl~LG’l~~%J  input card hLl

3 4 .  3717 READ (5, 13) ((BAT (1, J), J = 1, 4). 1 = 1, 2 )

13 FORMAT (4F4.1)

Xl~~~~L9l”afJ.U  input card d%¶J  lbi6Jt~El~eil~osm~~~~~~~~~l~

35. RlMWl  Array M 84aulin 9 Cd  LtdR-,$iaQdl~4isn’~l¶l~

M ( 1 ) = 12 M(4) = 15 M(7) = 1 8

M ( 2 ) = 2 M(5) = 16 M(8) = - 8

M ( 3 ) =  - 9 M(6) = 50 M(9) = - 3

?susl~~eranl~~~Jw”a7ug;7sT’s

n)

2 9 II

WRITE (6, 29) (M(K), K = 1, 9)

FORMAT (3 (3X, 12))

91) WRITE (6, 30) (M (KA), KA = 2, 9, 2)

3 0 FORMAT (214/)
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36. PJllhUfht?J~~&  35 n) L?hl#  DO statement LLVIU

37. m WRITE (6, 18) (CAT (I), I = 1, 5, 2),  (RAT (I),  I = 1, 5)

1 8 FORMAT (2F10.2)

Computer ~rn"JFil~QJ~~ll~~~~~l~~~~~lJ  mxGiuw?Pt~n3'numrou'?Jr9

lJBlaYl  1 aJc)lllOJ  XI,,  x,2,  x13
aad -I
IMlan  2 aJF1lVQJ x2,,  x22,  x23
Y d cl,

2181'5'yI  3 wll"UQJ  X31,  x32,  x33
Y d II
Llmm  4 aJmwN  x4,,  x42,  x43

wl~uun'l~JdluY7~J  4 Glah

1) ‘l#  DO statement

2) 1% Implied DO

39. fi? Input card f4  3 ¶%lT?ifl
ud cl,
mm 1 Ufll%QJ  XII.  X21, x31. x41
ud tin
wlm 2 %JFll"uQJ  x12,  x22,  x32,  x42
w d d,
wlm 3 aJFmJQ9  X,3,  x23,  x33, x43

?Jlijuuil~Jdlu~m~;J  3 Gl$blU

1) 1% DO statement

2) 1% Implied DO

40. W$ilu memory -mmufiami  i%illW  x 12 Fil 1% array X hfh  39 u&a WlfUP,

Qi-&Gb&xwin~o9  array X 1U;¶J  matrix 21p1lW (4 x 3) @hi

AAAx~xAAAx~xAAAx~x

AAAx.X AAAX.XAAAX.X

...x.xAAAx.x x . xhhA

AAAx~xAA*x.xAAAx.x (A = blank)
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